
There is a significant financial and social benefit to 
reducing  emissions and working towards net zero. 

Financial benefits of 
becoming net zero

@2024 BSI. All rights reserved.



Here is a financial example of two equal companies on different sustainability journeys:

Turnover£700m £700m

Forecast  
growth5% 5%

Carbon  
footprint25,000 t/CO2e 25,000 t/CO2e

Spend  
on offsets*£98m by 2022-50 £3.4m by 2050

Spend on  
reductions£0m by 2022-50 £4.1m by 2050

Total 
spend*£98m by 2050 £6.5m by 2050

Carbon  
footprint

Does nothing 
to manage

Commits to reducing 
their carbon footprint by 
4,000 t/CO2e per year

Residual  
emissions

Commits to offsetting 
its residual emissions

Commits to offsetting its 
residual emissions

Social  
footprint

Emissions contribute 
to significant damage 
to human health and 

property 2022-50

Greatly reduced damage 
to human health and 
property from 2031 – 
predominantly from 
historical emissions

Net zero  
target

Doesn’t achieve  
net zero by 2050

Achieves net zero 
by 2031

Organization BOrganization A

@2024 BSI. All rights reserved.

*Example costs only as off-set credit prices are variable.


